o5

[ aetaeea |

8 Cotm Booo equtime®:ind
&.68).08. (.68g) Swxwa - 2022 (2023)

80 - @miétsaéz ) e35edexn MWBLICS

cng (0@ o3cda

AN

o e 90

o8a crindog clmanddmied gealina ogme ond enld.
mqumwmﬂmmm

oo aeaddn qres 6 g P g

TTTEE—

Scanned with CamScanner



anm @Q&Jbﬁ)@@ﬁ@& 68)8(1)5)8
e T

3 Paper I answers
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4 Paper II mark scheme

1.93.

1. BE€nom Cng ©¢w 340 gDas® ug wdx3 98 gig gi=-

2. aeleat p3er0n Bdn e 98 (/) OB 220 s

3. ¢-- A 9827 ¢0sterd, gog 382000 cne 8n viles), A A0 08 nd vd&s 08.

4. 50 gufec Bznsies 04de exnecHm BERG O m4 g. 1o gfud Hmsie ogduws on Cco8® eqy
O gfudws ;80 ewd QD ews HB DD ewd 5168 O DS,

5. 0402 ya» vyed cne 5988 (rounding off), gDz CRFOC OO vRGS DE Y.

1. (i) Write down two other pieces of information that should be stored fora patient’s 2]
appointment.
S0 G| 1 8= IX2 = 2
e
@00 / i v / e / cdediwn
6B 2 anb 6w %@3207_ 7>
res 2eSQN ;3} Ves 228
3NQ 5 2
(ii) (a) [Write down the label of the port to connect a projector with a VGA cable | [1]
A
(b) [Write down the label of the port to connect a USB flash drive. | (1]
D

* odaced gudud ewdqw (capital/simple) emnucmziz.

(iii) (a) [ Convert 63,0 to its octal equivalent. | [1]
8 |63
a2l
. o e
77
18

80 - omidnd, m cotfiobin e s - CRG 808 8dmdo / q.00.0.(.00) Bvmas - 2022(2023) / secldm qred D6 9RO B
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(b) [ Convert 63;9 to its hexadecimal equivalent. | 1]
16/ 63 )
A T N
-LULJ - T~ >r
0- 3 >3
@3(3% ) 7\cS'x'> :6&367“‘;4
* Fedaced gxfus edew emmucmsts. =y ™
* Bge B8O qmsdas e20ed,
* DO 30w ezNed.
(iv) (a) | Out of AND and OR gates, what is A7 | (1]
OR
(b) [Write down the boolean expression for C. | N (1]
v $eds S8 Ona:
C=XY
C=XY
XY
XY
C= Fouwse D
(v) [Write down the replacements for 1,ILIII and IV choosing from the list. [ [2]
om0 e 0.5 N8 oS Repcrﬁ' YR )
I BIOS Afh 2dmb Repecd
II: OS |
II: WP Covinn No vaedles
IV: OS o 620\ o &5

V Ci8ened can & ;B @on® s¢wn 8quss 6 gif 16 0D @D Buwo 18380 - CB
0
* gRes e ww and gnd B8 erNBCHBID.

19
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8930 eseibne®stnd
==
(vi) Write down the labels of the formatting options that have been used for the o
sentence formatting. L ]

dm»d cnm 0.5 98
P Q R S

R ¥V 05060 018 oFACE 8w 18 80 - cmen 0

(vii)

* gfed otdqw exnecHsI.

88unuB 8mFvwss:

1 ﬁezéga 382 §;80

2 gnaidc v ew(font size) O:8 B8O (Bwe BBV), mesw ©3d® (bold), & B8
(italic), 327 @0z 4:2® (underline) 428 ot DODews! 8OO

Write down the label of the slide layout that can be used to contain title, | 1
(a) . (1]
some text bullets and an image.

C

* Coeldaced gfus ediw eonwcmsim.

(b) Write down one good characteristic w.r.t.the maximum number of text lines [1]
that should be placed on a slide.
D60 e gn 88O »d edE v&» 5-9 §gd Bo gne. b= 4 Q?
W2 PR
BEurwmA dmJuwst: By c\t&)ﬂ
5,6,7,% Q

516/7/8/9 ewd gum vows BE BN® ¢z vohw:s

NoTE: In the text book, the maximum number of text lines on a slide is recommended
to be within the range 6-9. However, 5 is also accepted in some references.

(viii) [ Write down the replacements for P and Q of the flowchart. | [2]

om0 G 1 N BsT:

P=0 Q=5

* P eaw Q edacde gulud o omnucmsis.
B88vvuB 8mFuwsy:

0and5/0ew 5 -
0,5

Org o

80 - o670 ™ exiBebim TGS - R 208 83030 / g.08.0.(.08) Bmos - 2022(2023)/ w-eridn red D€ 920 OB
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(A RATE

(ix) Why is it important to get clear/exact customer requiremnents befure leaving the [2]
first step of the waterfall model?

o ;18 pmaBled§, Sco Budd 4160w H880 eud omf Bubddn u@ybe mc yned. o®ece
sidBed wd8dn mOYH 260y BB eud ¢baNm Ve MBS BWdOuSGH BC ¥aed.
deed 0210DewIn!, 8m0as 8ddBws t3-080mw Be® 4DeHm® wn vubd B edned BBOD
3 St 180 Bedn .

vY5 D D857 B2n® d»d cne 2

* 3o 318 goBed?, o Budd 4160w B8O eud ot Buddn 6dyle ©C ¢4ad /
a8 grmaBed? 6.088n uvddBe gdws g2rel vOm vBu BEOO MBwWO
5108®

* D168 gDawmN 856 5O vddBwe cdx BB gun 8¢ ¢dm OO

(x) | Draw the expected output of the given HTML code fragment. | [2]
—HTML i cug ¥l B9 @"2“9 c
682 is a markup language oo BN
65 HZ\W0 —>Java > A o
@cs,}?L ) is a programming language 6A0° @7l P
—SQL \ - 7‘3@9
TJAVA ‘GP: = is a query language

égm’i) plo wioA Ics

von guds cag oD,

A: ved goc o¢m - ca 1
B: 6505 goce - cRH 1 (¢-- A)

v gxnedeme (indentation) gmsd@s ©O.

% THTML", “Java" esv " SQL" 06, @88 300 60 ud 0¢ls ETVBEHBID.
it il -

21
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2. (i) [ Write down a formula for N3 to display the 12-year increase for Australia. | 2]

=M3-B3

¥V emis 88z eednls B gne.
* gxuled efew emneCmBIB.

% +M3-B3¢ 88un v,

% =SUM(M3, -B3) ¢ BEw» wiz.

ewnch am f Broons, @20 ©

(ii) | Write down the formula that will be in cell N12. | (2]

= M12 - B12

V oxndu 882 wmedsie B gne.

* gfec ewfes enecHsIH.

* Qun (i) vew Bvswed BExs =SUM(M3, -B3) »® =SUM(M12, -B12) ¢ 8Eo» wim.

Cr  Bg5u@a 500 P Y

(iii) (a) [ Write down the formula required in cell O15 to display the lowest increase value. | [1]

=MIN(03:014)

(b) [ Write down the formula required in cell 16 to display the highest increase value. | [1]

=MAX(03:014)

VY ome 88> wedte Se gno.
* guled ewf¢w exnecHBID.

® § Buch, &y
» Q. EEh o dohon admn 4

80 - em:670, m oxfBebim UGS - CRE {00 830106 / g.ev.6.(2.00) Bimow - 2022(2023) / sealdn ares DE 820 §1o 22
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(iv) [ Write down the correct formula that needs to be entered in cell P3 for correct copying. | [2]

= (03/O$16)*100
owd

=(03/$0816)*100

* guled edin emmecHsIH.

v) From line and pie charts, which is more suitable to compare the changes (2]
of solar power generation of those countries during 2010-2021? Justify answer.

@58 gedcas / line

BN EmETwmn: »EDIB® BSvvm OO i B80S ne cdnd B worsieme HEOD
8382 08D Y868, dLmwD ezd wetIemw BBOD gty OO ye3c8.

s gadst cna egim.

A: o83 yeds - e |
B: 60006 &b (vvn $D:827 dmn)- cne 1

o DeED® BBvwm OmO e 80 e -
—  cDme BO wonsiime HBOD ggey 085 ydas8./ ¢ 0O BBvwH wewsI¢w
ABOO gy5ey @891 yeIDss.

o DC® 030 DHEOD (D ENHE B 15y @8R YLHEB.
o 30D 200 BT BBOD gygey OO YyeIBEB.
o DO yedhs BHuwt® 800 855

£3005):

98 6800 v BPvws gp (600E 12 & egwe dud 124 ). OB 08 ytddad
8mews! 600 12 0 gec Ded 12 8 & gowm0d omd yudhded od€ 12 & yebema
me mBo. 28, 600 12 0 gec Bud 12 8 Bag® gows? yibamns B8O o 8 O
Y8 ws 18w emywm.

000 ydme 8z "2010-2021 mce ne @O OOC ylw AceB cvgme’’ o
80um A0 vemstm. omet eOns, dv Ot dodln O M gw® C4 ydn e 5O
(¢80 B3eBw@d eewm Qo 12 gows’), 880 DO yefdde D0 eygey @O.

23
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3. (i) (a) [ Write down the primary key of the Borrowed_Items table. | 2]

ItemID + StudentID + BorrowedDateTime

vV Budn glud Bmmus ¢daned.
vV gOnd Seody v yin® o)

* ' 0000 and" ewd ewn" ownd BEon wim.
* g=fuc orde (case) ww 98 (space) @¢f¥ EBNBCHTID.

2

(b) [ Write down the foreign key(s) of the Borrowed_Items table. | [2]

om0 Ry 1 @

ItemID
StudentID

V¥V Budn gfuc Sxmnes gdased.

V 40m6 Hovn 8w y1ifm® cren .
* gSwus o (case) ew B (space) e¢dy exnacHzIm.

- Which tables need to be updated when the school decides to [1]
(i) (2) allow students to borrow Tennis rackets?

Item

v Budn qied Bmmins gdaned.
v @50 Dg @ HH® CAH D.
* gxfec @ (case) ww 98 (space) e¢dz enucmzim.

Tdew dable joble ”DQQ"“L‘SLQC@(‘\ 2nah 6 A

Which tablcs need to be updated when Shane borrows a Tennis racket on 1
(b) | 20/04/20237 -

Borrowed_ Items

VY Budn guius Dommwe wO® 3 @6 (underscore) gd@sed.
A— -t
Y 5200 QP gitia® ORANT,

* gufwd oul (case) ww @b (space ¢l eznB OB,

24
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em—

Raj (S150) joins school (for Grade 10) and is selected for Cricket team on 25/64,/2023.
(iii) | He borrows a cricket bat (005) on the same day at 14:00:05 hrs. (2]
Write down the new records to be added.

om0 e 1 8.

Student — (S150, Raj, 10) B » . % -
Borrowed_Items — (005, S150, 25/04/2023 14:00:05) A UL- Ref® - @FFXR EFPHY

' P@@ . HD
¥V Budn quted dxnsesws gD@sed. Y
V 8906 Dg/edendd Bw 15850 Cna d. 57\3’70’3

* gfec e (case) ew @B (space) e¢ly exnsCHBID.
* D@ed8 grmdwd edemdd Buwr Ed® ¢ BEws mBae.

(iv) Which tables need to be joined to find the names of students who borrowed sports items 2]
on 05/04/2023? The type of item borrowed must also be shown.

Borrowed_ Items
Item
student

V C0eg 2 wem 8w 0@ gdaned. \ 5

WA
* g0 euc dome oife emscestm. 2P /‘1("2L"$) @&377)3 e e
* gus e (case) ww @& (Space) 68 GENBCHTID.

B88vrwB dmuws:

Bag 09

25

80 - emGRs 12 B¥Bebim ME G - CRE 300 83030 / g.om.0.(.00) Bwmos - 2022(2023) / seaidn gaed e 90 1P
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Write down the most suitable transportation modes (bus, van or bicycle) for Sithara,
Ganesh, Saleem and Nimal. (2]

4. (i)

OO ey 0.5 98z

Rendr 2 Aet

oesld : e

688 : vaenE O /O
BOE : ?88mC3

* gmtec ows (case) o ¢ s Bxnse e¢de enwCHTID.

Write a pseudocode to input the required data for a student (total distance [TD],
(ii) | distance to bus stop (D], monthly van fare [VF] and monthly bus fare [BF]) (8]
and to output the suitable transport mode for him/her.

ALTERNATIVE 1:

BEGIN
INPUT TD, D, VF, BF
IF TD <= 5 THEN
DISPLAY "bicycle"
ELSE .
IF TD <= 15 THEN
IF D < 1 THEN
DISPLAY "bus"
ELSE
DISPLAY "school van"
ENDIF

ELSE
IF VF < 2*BF THEN

DISPLAY "school van"
ELSE
DISPLAY "bus"
ENDIF
ENDIF
ENDIF
END

—

80 - e2:676; 1) sHeDi HTYGS - CRG {28 vdmIv / g.om.0.(.00) Bmos - 2022(2023) / s.eaidn gred BE 40 12 26
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ALTERNATIVE 2:
BEGIN
INPUT TD, D, VF, BF
I° 1D 4.5 TUEM
DISPLAY “bicycle”
ENDIF
IF 5 < TD <= 15 THEN
IF D < 1 THEN
DISPLAY "bus"
ELSE
DISPLAY "school van"
ENDIF
ENDIF
IF TD > 15 THEN
IF VF < 2*BF THEN
DISPLAY "school van"
ELSE o
DISPLAY "bus"
ENDIF
ENDIF
END
ALTERNATIVE 3:
ij"“ BEGIN Bl VA Bagu/eud
b INPUT D, D, VF, BF simple (o @™
Sl | ~B Tupuarto o
o IF TD <= 5 THEN C. :
g DISPLAY "bicycle” covdidioy
ENDIF D/ Bashan s
05\;9 ou*?“"*
IF (5 < TD <= 15) and (D < 1) THEN E [~
B DISPLAY "bus" :
REOE ENDIF 3
2% BF Ga
, H0>  IF (5 < TD <= 15) and (D >= 1) THEN
2 (BF) :wxmfaf% DISPLAY "school van" H - A& i:'sga)
9—8 f: ENDIF ’VEJ.M P> NN
T P Al S
> IF (TD > 15) and (VF < 2*BF) THEN %
DISPLAY "school van" SATF 55N
ENDIF R udantetieu AQdy
>:}V IF (TD > 15) and (VF >= 2*BF) THEN TAEN 97Hs 205
Z DISPLAY “bus”
ENDIF
= % END

80 - @m18d

; exifebim mfuske - CRE 200 vdeada/ q.00.0.(2.08) o - 2022(2023) / sealdn grres D€ 9rd oo
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ALTERNATIVE 4:

BEGIN
INPUT TD, D, VF, BF
IF (TD <= 5) THEN
rode = “Bilcycle
ELSE IF (TD <= 15) THEN
IF (D < 1) THEN

Mode = "Bus"
ELSE
Mode = "School van"
. ENDIF

ELSE
IF (VF < 2*BF) THEN
Mode = "School van"
ELSE
Mode = "Bus"
ENDIF
ENDIF
ENDIF
DISPLAY Mode
END

s ¢udst Cm| egsIm.
A: BEGIN/END - ca« 1
B: input TD, D, VF, BF - e 1
C: If TD < 5 then display "‘bicycle" - e 1
D:If5 < TD < 15 and D < 1 then display “"bus" - czmex 1
E:If 5 < TD < 15 and D > 1 then display ““school van" - czeg 1
F: If TD > 15 and VF < 2*BF then display “*school van" - ceg 1
G: If TD > 15 and VF > 2*BF then display “"bus" - cyeq |
1: s@yb@mmd: - cag | (¢-- A 80 GBI ER)
. D62 gmed¢ma (Indentation)
. ocesm ENDIF
« mzIzn (strings) quotes g 8O
o THEN ©:8mw

* BEonwA sbwiw ve:

» BEGIN: Start

« INPUT: Read, Get, Take, Obtain

« DISPLAY: Output, Show

« END: Stop

QD B0 88 Beve veg BEOD wmim.

* gfed otdiw exnecmsID.
* ¢30 gfud Bsaes 04w ENBCHTID.

30 - 023626 ™ wxifebim MV GS - CRE §ed vdeda/ q.00.0.(e.08) Do - 2022(2023) / s.0addn RES DE Yad &2 28

Scanned with CamScanner



Bwm e¢lnedsind SwB8ond

5. (i) [ Match the descriptions labelied P - 5 with the correct terms from the jist. | (2]

om0 ey 0.5 98=7:

P — HTTP

Q —» URL

R — [P 88mw / IP address
S — SMTP

* gud euiw esnucHmID.
\_//

Label Sv)

(ii) Choosing from the list, write down the correct example suitable for each of the labelled 2]
" | items A to G.

A — 058 eyed / WordPress

B — k/lk . o 68D
C = ow¥emutes /[Firefox

D — q@od /Google

E — 080& /Twitter

F — IaaS

G — PHP

s edn 838 cng 8850xn.

w5® B0168 0O - ey 2

vt BOGE 20 - cag 1.5

4 -5 238 BOGE 50 - ey 1
2 -3 8 BD168 20 - e 0.5

L N md @9y M-
* gfus ofew evnecHBD. 1

Label SN

80 - emidndy 10> e5IBebD v e - cRa 2o vdsda / g.oo.0.(a.00) Bmnos - 2022(2023) / seonddn maes HE 30d aiv 29
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Write down label number and the corresponding HTML tag which is to be chosen (6]
from the list.

(iii)

o220 CNeg 0.5 3 BT:

1 -head -
42 -hl ~
d=p
4 -h2
5 -ul *
6 -1 *
7 -table_~
8 -tr x
9 -th
10 -td r

11 -rowspan ~
12 -a /

* gfec o eNBEHBIH.

< > Byeoh 6ON-

80 - 22020 1 fedi» MW Go - CRE {20 11D / g.00.6.(.08) Bmoa - 2022(2023)/ srewidn e e yad a>
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6. (i) Explain the reason why vector files are more suitable than raster files to sture
2 images like institution logos that frequently need resizing. (3]

62308 @8m BFfud O8s < qi». 2@ ¢pd O® @98 Beduvews? Bwc mo» 8O,
8@ 9oBmw o218 685 Bone yodnws 5o B8ed. c0=x08 ¥8m Bfed
93855 eHSB. 80 GO dmm 8NDS rius wdnens? V&EDOW wdndes, way ew!

019 059 OO Omn De®sf BEDr1wmv B3 f1b. 6827 gewed 055t @aslOm®IDe 3B
@z9d Bzind Bang (evd nth) »€ 0B AD8. ePecw Bnd ySrems edn HBOO gdas

0 BIn6 tewr @008 emizm) D8 8358 @O.
soD eds 188 cn G 88xosin.

A: 6308 @281 Brfese D82 e 1o - C A |
B: 098 98man B we B9, Bfec §@ 02 ¢0d 98me omnem§E ob - caR| 1
C: 00308 g:Bmws 0 &HDO Wik / 258: / 0p w0 OnndedsI B G 0 B Bexn

@00 0080 #B 021D 5 CRA 1

(i5) (a) Explain how you would use the interface options selecting from those labeled A-F 2]
to remove the two silent portions at the beginning and the end of song.

D =8 6, @ 0 gr emdL eIc Qﬁgs_ljﬂeﬂ_mm

som eseds 88 88»0xI5. \

q CcnE A SOy S
A: 53 0B @B @206 endc OB - caa | ) Q‘%/} z
B: E S8 880 - crpeg | (¢-- A) 2 »co 7

v A, D v E 916 0055 056 oo 8w Bod m8, g0€ Cr e Ca es»essiD.
Vv 88506 e3¢ D esw E 880 s®w:s 3105 e20ed.

* oCacOhc §ws eww exncHsIs.

% D o» E edacode ¢8n2 §:80 ¢ BEon viBe.

b Write down the label of the interface option that you will use to play your [1]
(b) modified file.

B

% Boeldaced gB8mmnw 4180 ¢ BEuw» wniBw.

80 - o260 1 exHebin mTe e - CRY 300 853:0u / g.em.0.(02.08) Do - 2022(2023)/ aveaidm e D€ g0 a> 31
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What is the importance of the timeline stage in the Windows Movie-maker [1]
(m) (a) interface?

Windows Movie-maker ¢acs ©3z330:6 200 0850 € w129, BEDr16a 3¢9 ewpozy
can ddewd (Sam, 11 6o, wompziA, Samazn ww GO esId, 88D BEeded
oviDy) cAles? 60O gnc Jueas! mc BS ed&medye. 09 & 8B8CE®@0 M
B0 eb8znD Wi BVPEDST VICHV BE MD.

©300%):
son HO1H §Eed 2O, gHe s BExdsTm:

O, ¢a@s ©27D6w 815® CF Boesdm gBHOOCE eue®m O cuxyD8.

9
A e ps‘:se@ A 6{0-.‘4) Q\(d\@@ & 6'25@@ .

FoRb Q6330 PCPY

(b) [ List three features that you could add to your video through the software. | (3]

BB WE1eR g08zT R B4 B CRG | A 8:
* @8 / 6,8 / images
o 200 (Smazn, 5B B2®) / text (titles, credits)
o 3025992728 / transitions
e gidwaz / narrations
o 2:@8nws? / gO» eviyy / O» 8yd / music / audio files / audio clips
o gaas Geendum® / visual effects
. BBewd emz) / BBewd vy / video files / video clips [BEw» wim.]

2023)/ seoaidn aReS D€ Qrd ai» 32

o e Go - CRE 208 8dda/ z_;.o:i.u.(m.o::) B - 2022( ) sl

0 - emdnd m ealfed
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7. (i) [ Match descriptions labelied A-D with the correct terms from the list. | i2j

om0 cng 0.5 9 8z7:

A—8
B—4
C—-S5
D—3

* eCacOhe gtud odiw emLEcHmBID.

Do you agree to discard Sunil’s computer and buy a new one as the existing computer [ 4]
has become slow? Explain.

(ii)

BEom wB o¥nds 0B 88uammw 9bn 88 matdBws O qm& O By gegdsOCO
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6O B BEnG®O, B ws» C w3 cyey 1 31827 § cng 2 = o¢sin.

ii) Write down one method to avoid plagiarism when reproducing information 2]
it from the Internet.
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(iv) | What is meant by ‘becoming the master’ and ‘becoming the servant’ in this statement? | (2]
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